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(A) (B) (A-B)
FAYT T 26 58 84 85 -1
e T 10 20 30 31 -1
Efi 14 28 42 43 -1
2 FH T 9 16 25 25 0
KHTH 3 12 15 15 0
LR 6 11 17 16 1
PARE 435 5 8 13 16 -3
Ergihi 9 13 22 23 -1
(i #h) 82 166 248 254 -6
B ZEHT 2 8 10 10 0
=ZFE) 2 8 10 10 0
£ e T 1 4 5 5 0
(ARARR) 1 4 5 5 0
JIASHT 1 1 2 2 0
FEHRHT 3 2 5 5 0
= g AT 7 12 19 19 0
(=R 11 15 26 26 0
JELF T HT 2 6 8 8 0
BT 1 0 1 1 0
(EE 2 RR) 3 6 9 9 0
T 1 0 1 1 0
7a / EHT 0 0 0 0 0
FRAS 1 0 1 1 0
fRlz o> J5 T 2 4 6 6 0
=0T 4 4 8 8 0
(BTATED) 21 37 58 58 0
(TETRIE) 103 203 306 312 -6




